
数学分析（3）：第 4 次习题课

刘思齐

1.（Raabe）设 α > 0，计算

I(α) =

∫ α+1

α

logΓ(s)ds.

2. 设 n 是正整数，求证：

i)（Euler）
n∏

k=1

Γ

(
k

n

)
=

(2π)
n−1
2

√
n

.

ii)（Gauss）
n−1∏
k=0

Γ

(
α+

k

n

)
=

(2π)
n−1
2

nnα+ 1
2

Γ(nα).

3. 设 α > 0，求证：

i)
Γ′(α)

Γ(α)
= −γ +

∞∑
k=0

(
1

k + 1
− 1

k + α

)
.

其中 γ 是 Euler 常数：

γ = lim
n→∞

(
n∑

k=1

1

k
− logn

)
.

ii)
Γ′(α)

Γ(α)
= −γ +

∫ 1

0

1− tα−1

1− t
dt.

iii)

Γ(α+ 1) = e−γ α
∞∏

n=1

(
1 +

α

n

)−1

e
α
n .

iv)
∞∑

n=1

1

n2 − α2
=

1− π α cotπ α

2α2
,

∞∑
n=1

1

n2 + α2
=

π α cothπ α− 1

2α2
.

1



v)

ζ(2) =
π2

6
, ζ(4) =

π4

90
, ζ(6) =

π6

945
, . . .

4. 证明或计算：

i)

Γ′(1) = −γ, Γ′
(
1

2

)
= −

√
π(γ + 2 log 2),

Γ′′(1) = γ2 +
π2

6
, Γ′

(
1

2

)
=

√
π

(
π2

2
+ (γ + 2 log 2)2

)
,

Γ′′′(1) = −γ3 − γ
π2

2
− 2 ζ(3), Γ′′′

(
1

2

)
=?

ii) ∫ ∞

0

sinx

x
logx dx = −γ

π

2
,∫ ∞

0

sinx

x
log2 x dx = γ2π

2
+

π3

24
,∫ ∞

0

sinx

x
log3 x dx =?

2


